


S.S.C–Mathematics. (Guess Paper)

Paper – I      




  

Time: ½ Hr.



Part-B



Marks: 15

Name of the Student ………………………………………………….. Roll No………


NOTE:-
a) Each question carries ½ marks.



 b) Answers are to be written in the question paper only.



 c) All questions are to be answered.

 d) Marks will not be given for over written, re-written or erased answers.

      I)     Write the CAPITAL LETTERS showing the answer in the brackets provided against each question.

1. In the following which is true?
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3. If 
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 then 10 is the image of ……….. 
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4. If 
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then the range of “f” is …
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5. The sum of the coefficients of a polynomial is Zero then …… is the factor of f(x) 
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6. 
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is divisible by 
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if and only if n is …..
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A) Even

 B) odd

      C) any +ve integer
 D) prime
7. The point which belongs to 
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A) (3, 2)

 B) (2, 3)
      C) (-3, -2)


 D) (3, -2)
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9. If the first term of the G.P is 50 and fourth term is 1350  then 
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A) 8050

 B) 5050
    C) 4050


D) 6050
10. The seventh term of the series is 1,
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11. The quantifier present in  
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12. If n (A) = 5 and n (B) = 4 then the number of one-one functions from A to B are …………
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15. If f(x) is a rational integral function of nth degree expression. if is divided by (ax + b) then the degree of its quotient is  ……………………..

16. If 
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17. The general form of an objective function is ………………………………………………
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20. If 
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III) For the following questions under Group-A , choose the correct answers from the master list (Group-B) and write the letter of the correct answer in the brackets provided against each item.
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GROUP - B
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A)  Constant function
22. 
[image: image49.wmf]pt

Úº






(
)
B)  Identity function
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C)  (10,0)
24. point on X-axis
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D)  (0,10)
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E)   Bi-jection
F) T
G) F
H) one-one function
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I) 0
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29. a,b,c are in G.P then
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30. the A.M of –a and a is 
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